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Brii $ frq fresr

trq F;r-q{ + frdi A sc( GS rrs fftrlRe rqr< ct i[T{r

w5oroftR<v t
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(i) +eftiA * sqkd slrq (ftr{);

(ii) t&Fre qr s{Ekd itu{;

(iii) q{frfrq fr d{ fr+{6 i-&Rre q}tu{ d
15% 5 E{ qrcl qrFil *, + +fu{ d srB-d

wt qt ar* + frs {Effir nqlrr fu-d-{I +{r

qrBs?

qI

(sr) i-Sftti rqlr<+ irrc wr qr*i l? *SFrfr trut

+ nrft-d q{o} q{ qqi dfrsl

(e) ff r* * qrq FrqRtu{ +e{c tt( silc (ft.{)

efu-dr* * qpr {cr< qvrt i P ft Q, A Effi
i+t i:

p qr 3rEfud ftrd ro%

q w oik< Rr4 rzx
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Rrft yr+ * srq tcr{t r

vr<$ qr,i*\rfiqrq*frs t

qnrq +drt+cr qq * r

E{ cf{- rr{ tFI 3E{ didt qT frff frffi \16 qrsr i afrq, aRi{
qsvat qrqneq vo fr +<rqGs t

(a) What do you mean by investment decision process?

How is it going to help the investor in making

sound investment decision? (8)

(b) Following information is available in respect of

the rate of return of two securities A and B in

different economic conditions : P (vt,ff) qr siifud dfuq rz%

P. T. O.
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(i) 100% of P;

(ii) 100% of Q;

(iii) 75% of P and 25% of Q

(iv) 50% of P and 50% of Q ( l0)

(sr) qoTB.q M qt R<n t q-qf dftqr

(s) * CRr * qrs ftqRfuc dR{q st( fr-t fris-dr*

d mq {qrt ri-gcrd + A *r B A EM iqr,

ts:

A q( 3rihd ara (ftr{) zaZ

B qi qqfun sna (Rr4) trz

A (ct$) q{ sqtu{ *fuc zez

n (vc$.) v< srtftr frFsc zs%

F{ cFfldil * or+ (ftr{) I o.o qr rqrmqq.qadr

*r rrunr *fuq -

0. s0

0.30

Find out the expected returns and the standard

deviations for these two securities. Suppose,

an investor has Rs. 20,000 to invest. He invests
Rs. 15,000 in Security A and balance in Security
B, what will be the expected return of the
portfolio? ( l0)

Or

(a) Write a note on different participants in the
financial market. Differentiate between money

market and capital market? (g)

(b) Explain systematic and unsystematic risk. Also
explain risk-return trade-off and why have

different investments varying degree of expected

return? ( l0)

1400

Condition Probability

Recission 0.20.

Normal

Boom

Rate of Retum

Sec. A Sec. B

-0. 15 0.20

0.20 0.30

0.60 0.40
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(s) frft-{ s{Iffi6 RrM i a efu g i stutfr+ * orc

fr Et d rEniu i FrqRfr+t ur+ryt sqccr i:

TfiEFIT 3{rc d Ei

B

o.20. - 0.15 0.20

0.50 0.20 0.30

0.30 0.60 0.40

E{ a cFil&m + fts flnErd llrc (R'-t) *t qrro

Gqo-< art frfrsr cr< fffrs, 95 frtrrt * q{ ff+{r

qi{+ + fts 2o,ooo wt *r <a vftr1R A i ls,ooo

wt qr fffu q-cor * stt iq tqt qr fftrr YfutR

B + 6cdr t, fr&Fr& * srqk( ern (Rr{) ma

frBqr

r3

(iii) Suppose an investor wants to reduce the

portfolio risk to 15%, how much should the

correlation coefficient be to bring the risk

to the desired level? (10)

Or

(a) What do you mean by Portfolio Management?

Discuss the steps involved in portfolio construction.

(8)

(b) Mr. X holds two equity shares P and Q, in equal

proportion with the following risk and return

characteristics:

Expected Return on P l0o/o

Expected Return on Q 17%

Expected Risk on P (S.D) l2o/o

Expected Risk on Q (S.D) 25%

The return of these securities have a correlation

of 0 (Zero). Calculate

4 1400

fuR

ffitrt
qFn;q

+fr (w)

qI

(er) ftfu ffq qfrcr t e{c eI <t{+ *? E<t Rarr6

d +6-dt ffarr ftlh A+ } ft{ Y-6Tr ?req ftil&

*?
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(c) qiB& *t sq+frcil tRlBs + fi-q rct dfrqr

qad *t ff t ilrq-*r qr anq{ *? qdd *{
ff + fi-q $ ird( are dfrgr

5. (a) Discuss the Markowitz Theory in detail. (8)

(b) Mr. Gupta holds two equity shares, A and B, in
equal proportion with the following risk and return

charac teri stic s:

Expected Return on A 24%

19%

Expected Risk on A (S.D) 28%

Expected Risk on B (S.D) 23%

The return of these securities have a positive

correlation of 0.6. Calculate

(i) Expected return of the portfolio;

(ii) Expected risk of portfolio;

(s) FtSq qrfl{ } ftN;T lhmftt qr v+. }E hrfusr

T*r srqR fti Tff srmR + ffq or a-fl nr(

d&sr

(s) qsRro ft resRrd +ftd{ d qrqr dfrsr
R'o.-fr{? ts-mr. + ff ffi{Ei *t srolr-irdrrr

fril + orEkd frrd qr << qnrr-griFr sfr +dr *?

q{q dfuqr

(a) What do you mean by credit rating? What are the

credit rating agencies operating in India? (S)

(b) XY Ltd. has a 14% debenture with a face value

of Rs. 1000 that will mature at par in 15 years.

The debenture is currently selling at Rs.1050.

Calculate for this debenture :

(i) Current yield

(ii) Yield to Maturiry (YTM)

Is it a worthwhile investment for an investor having

required rate of return of l4o/o2 (10)

1400 5
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Or

(a) Examine the relationship between interest rate,

time to maturity and bond valuation. Explain with

graphical presentation. (8)

(b) An investor buys a 10% Bond (FV=Rs. 1,000) for

Rs. 1029 today. The remaining maturity period is

4 years when it would be redeemed at par.

Find out the YTM. If the bond is callable at

Rs.1,060 after 2 years from now, what is YTC of

the bond? (10)

(or) *Be iErr t snq wr rr+ra+ i? qr.d i 6I4Td *Fe

ltrrr vffici 6t{-ff A?

(s) \'flsr{ fdRas + rIRT looo w} + ffi-d {€ + qrs

14% GAq{ I d ts sfr + <t{dc q1 qfu€ *{rr

Glqr frilglil toso w+ q{ R-m ra lr qs €*{r *
6q zp6 dfr(:

11

(er) o{r.d + tR}Bs qrqrt * srt + i{rdq t q€E}l

(c) qgsrd ws + edq + ffiRa-d qr++rt sq-trer *r

cR Eqiri \r{r& Hrfr *fusr

rm-E iq 3,00,000

+6 +t( 2,50,000

srs *r G+m (or{+{d) 7,00,000

EM +qr (q-dcrr qruR {g) l2,5o,ooo

Tqa rc6rt nRFifuf 10,05,000

qq 75,000

qorqr rorqi fr q@r 2,00,000

(lr) ".tgre qie vff' srs-qer ff+fl *"r ffiq<rsi

*r GFr< r+n * qgwor ct * v-om + flq

*tuql
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(b) The following information is available in respect

of a mutual fund. Find out the NAV per unit.

Cash balance 3,00,000

Bank balance 2,50,000

Bonds and Debentures (Unlisted) 7,00,000

Equity Shares (Current Market Value) 12,50,000

Quoted Governrnent Securities 10,05,000

Expenses incurred 75,000

No. of Units Outstanding 2,00,000

(10)

Or

(a) "Mutual fund is an indirect investment". Examine

in the light of features and different types of
mutual funds. (8)

(b) Differentiate between commodity and financial

derivatives. What do you mean by futures and

forwards? Also differentiate between future and

forwards? ( l0)

(ii) qftT€-dr 16 3nq (vrM)

qrrql, wr t4% fr rns{{fi ft-+ qt sre ff+{r6' +
fts q6'v6'qr++. frnn +?

qt

(sr) qre rt, qftqqqdr 6r ttq ft Eii {€t6-{ + q-q {<tr

d qrq dfrqt rrfr-6 yEfr * fiq ffi{E}r

(q) 3lrm (q, ha{r6 to% crs (ffi-( {e = r,ooo tq})

ro2e rci + €A-{fl ir iq cQq-ffdr rq& I s{ *,
fr{ s-qfu vt E+ et{€ \R :nrqr ufl$rt I cftFn.dr il6'

s{rq (YTM) nrfr dfuqt qE rs fr 2 s{ qrq qrc

r.060 {qt qt qta q"r* trq *, A crg t6r yTC rFrr

*?

(a) Explain the Dow Theory and Elliott Wave theories

with the help of diagrams. (8)

(b) Determine the market value of equity shares of
the company from the following information as

per Walter's model :

1400 7
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Earning of the company 6,00,000

Dividend paid 4,20,000

Number of shares outstanding 1,60,000

Pricc-Earnings ratio l0

Rate of return on investment 16%

(10)

Or

(a) Explain the Efficient Market Hypothesis and three

forms of market efficiency. (8)

(b) Explain the technical analysis. How is it different

from fundamental analysis? Also explain the

different types of charts of Technical Analysis.

(10)

(sr) urm d q€rzrdr i ds Md ft Efr{e +{ Mfr *
qr<qt dftqr

(q) sr<t + tisd + rgun ffifur ilq-ort t Effi
+ EM fuit- qr srqR ar ftrfre aro dfrs:

qqfr d erq 6,00,000

aPlnr rrrrdFr

qorqr tct d sTqr

4 ,2O,OO0

1,60,000

Ts- wc r{crd

fri$ qr ftr+ d qr ro%

zn

(r) Arm qmn qfr6-cq-<t fr1 <rwn ?sdr + fi-{ Gfr d
qrcqr dftgr

(s) n-n-ffi Nqq + qrt*r dfrgr zra fR-o, ffiwr
t *t rtrrr +? il+-ffi msur + frft-q yqrc

+ qrd qt rft qnqr 6it il6-ffi ffiqq q€

d&sr

(a) Explain briefly the derivatives market in India?

(8)
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